Center of Mass and Centroids

Locate the centroid of the circular arc

Solution: Polar coordinate system is better
Since the figure is symmetric: centroid lies on the x axis

Differential element of arc has length dL = rd©

Total length of arc: L = 2ar
x-coordinate of the centroid of differential element: x=rcos©
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For a semi-circular arc: 2a = m = centroid lies at 2r/r




Center of Mass and Centroids

Locate the centroid of the triangle along h from the base

Solution:
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Area

Shape 5 5
Triangular area }_5 %
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Semiparabolic
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